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Time : Three hours Maximum : 100 marks

PART A — (10 x 3 = 30 marks)
Answer any TEN questions.

All questions carry equal marks.

1. Write down the formula for false position and

Newton-Raphson methods.

False position wpmib Newton-Raphson-sefler Liwier

FOGTUT(HE®ET S(hHel.

2. Mention the formula for R.K. IInd order and

Trapezoidal rule.

R.K. IInd order LODHMILD (Trapezoidal
el Slufletm) FLO6TLITL Iq VG & (.

3. Define : Median and Mode.
Median wpmib Mode-gg cuanywim.
4. What is coefficient of variation?

Co-efficient of variation eremmmmed ereven?



10.

11.

A bag contains 7 red, 12 white and 4 green balls.
What is the probability of 3 balls drawn are all
white?

@ euuldled 7 Saiiy, 12 Qeudtener wHmid 4 LFns Bl
UBGIGET 2 atanar. Heuhled 3 LbGIEET eT(h&sLiLIL L med
SlmensgIb CleueTenar FImOTs @)(H&Es Hlapsse| wng)?

Find the probability that exactly one head appears
in a single throw of two fair coins.

@ BIETLBISMET 6@ (LPenM &y eIl L T6
91560 e e L (HLb 6Nl eTetar Hlaspss6]

The first four central moment of a distributions
are 0, 2.5, 0.7 and 18.75. Test the skewness and
kurtosis of the distribution.

s Bren@ moments apenpCuw 0, 2.5, 0.7 wHmid
18.75. skewness wmmib kurtosisenw LifiGsrdlésa]b.

What are three types of Regression?
Regression-e epemmi (pepm&aT wmene?

What is algorithm? Give its criteria.

Algorithm eremmméd eremen? =igeim criteria-enul ms.
Give the add procedure for stack.

Stacken Qewdur’ L sms.

Define : Tree.

Tree-g cuenpumIss.
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12.

13.

14.

Write down the general procedure for
PREORDER.

PREORDER-én Qurg) elers&ssans eT(pgis.
PART B — (5 X 6 = 30 marks)
Answer any FIVE questions.

All questions carry equal marks.

Find a root of the equation x*-2x-5=0 to

3 significant digits using Secant method.

x*=2x-5=0-e1 possdHoar Secant wpamude

EPETMl @)OEHLD FEHSLOME HTEHTS.
Dividing the range into 10 equal parts, find the

Vs
approximate value of J.sinxdx by Simpson’s %
0

rule.
10 swoursmserts Wflgg, Sblisetlen % el Hlepw

Vs
.[sin x dx -6 Sl Sreirs.
0
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15. Calculate the standard deviation of the following
distribution.

Age: 20-25 25-30 30-35 35—40 40-45 45-50
No. of persons: 170 110 80 45 40 35
Gemeupd efllurms@ErsE standard deviation-senar
STEOOTS.
QWG : 20-25 25-30 30-35 35-40 40-45 45-50

puisafler erameniiGens: 170 110 80 45 40 35

16. Calculate quartile deviation and its relative
measure.

Variable Frequency

40-49 306
50-59 182
60—-69 144
70-79 95
80-89 42
90-99 34

Quartile deviation wLHMID G GUTEY SjeTEG
Getmeu (LD eNeUThIS(EhE®E, HTETs.

Variable Frequency

40-49 306
50-59 182
60—-69 144
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17.

18.

19.

Variable Frequency

70-79 95
80-89 42
90-99 34

Find the rank -correlation coefficient for the

following data :

X:' 1 5 48 9 6 10 7 3 2

Y: 4 876 5 9 10 3 2 1

erreu(mLd elleurmisEns@ rank correlation coefficient

GO & ITGHT .

X:' 1 5 48 9 6 10 7 3 2

Y: 4 876 5 9 10 3 2 1

Explain the various operations on ‘STACK’.

‘STACK e uewogriiul’ L Qesweur el alleréEs.

Explain about hashing tables and shortest path.

Hashing tables wipmib shortest pathenw aflenda@s.
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20.

21.

PART C — (4 x 10 = 40 marks)

Answer any FOUR questions.

Q— (1+x2)y2
dx 2

Y (0.1)=1.06, Y (0.2)=1.12,Y (0.3)=1.21 evaluate

Given and y(0)=1

Y (0.4) by Milne’s predictor-corrector method.

Epsramib efleurmisers@ Milne's predictor-corrector

2).2
warpuide Y (0.4) & sres. ?Zw y(0)=1,
x

Y (0.1)=1.06, Y (0.2)=1.12, Y (0.3)=1.21

Solve, by Gauss Elimination.

2x +y+4z =12
8x -3y +2z =20
dx +11y -z = 33.

Gauss Elimination epeod Srr.

2+ y+4z =12
8x -3y +2z =20
4x +11y —z = 33.
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22.

23.

24.

25.

From the following data, calculate the first four
moments about mean.

Class : 0-10 10-20 20-30 30-40
Frequency : 1 3 4 2
emeu(md efleurmisEns@ (P Mm@ moments-g
EPEVLD SHemTsd (h.

Class : 0-10 10-20 20-30 30-40
Frequency : 1 3 4 2
Calculate the coefficient of correlation from the

following data :
X: 50 50 55 60 65 65 65 60 60 50

Y: 11 13 14 16 16 15 15 14 13 13

Gemeumd efleurms@nd@ coefficient of correlation
-GN SITGH0TS.

X: 50 50 55 60 65 65 65 60 60 50
Y: 11 13 14 16 16 15 15 14 13 13

Explain with an example of doubly linked list and
circular queue.

Doubly linked list wpmid circular queue-g 555
2 grrans g e eleuflés.

Describe on tree traversals and Dijkstra’s
algorithms.

Tree traversals wmmb Dijkstra’s algorithms-g
cfleu.
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